57101107 OGN

o MARK Ao DESCRITION - E"GT&_ swc | D
735 102-A TYPE "H” PUMP PORT HARDWARE
102-1 75 |BLD FLG 13.25 DIA CF 55 PA
102-2 75 |HALF NIPPLE 4.5 DIA CF 3.38 SS PA
102-3 75 |HALF NIPPLE 2.75 DIA CF 2.46 55 PA
| / 102-4___ | 75 [BLD FLG 4.5 DIA CF 5| PA
35 ; 102-5 75 |BLD FLG 2.75 DIA CF SS PA
102-7 310 [PLATE NUT 5/16-24 HEX (*NP-250) 5§ PE
[ / (INCLUDES 10 SPARE)
102-9 625 |BOLT 5/16-24 HEX (INCLUDES 25 SPARE) 2 * PE
102-10 80 [GSKT 4.5 DIA CF (INCLUDES 5 SPARE) COPPER | PA
102-11 925 [BOLT 1/4-28 HEX (INCLUDES 25 SPARE) | 172 # PE
102-12 460 [PLATE NUT 1/4-28 HEX (®NP-150) S§ PE
(INCLUDES 1@ SPARE}
102-13 155 {GSKT 2.75 DIA CF (INCLUDES 5 SPARE) COPPER | PA
102-14 75 |ANGLE VALVE 40MM WITH 2.75 DIA CF S5 PC
FLANGES (NDRCAL ®AMY-1532-CF
OR EQUAL)
182-16 625 |WASHER 5/16 DIA (INCLUDES 25 SPARE) 55 PE
102-17 925 |WASHER 1/4 DIA (INCLUDES 25 SPARE) SS PE
CL PUMP PORT 2300 102-6 BOLT 3/8-24 HEX (INCLUDES 5 SPARE) | 5/8 * PE
| 80 102-8 GSKT 13.25 DIA CF (INCLUDES 5 SPARE) COPPER | PA
' 2300 192-15 WASHER 3/8 DIA (INCLUDES 50 SPARE) S5 PE
------------------------------------ L CL BEAM TUBE
% = SILVER PLATED SS
o
I
- SHT. 2
~ SHT. 2 'I"B
A . CL puwp poRT  /101-4-19
e B -I —————————
: | BEAM_TUBE P ‘
! ; ENCLOSURE YO OG i | :
| . i : l
¢ i SEDEMLI— N b B @ | = 0200,
4 . THIS SHEET QL :
! i DOOVE l iy ..
| . | APPROVED i | :
i o 1 | . v | ]
; | i W tple 7-%0-76| bt L@ , DAV
| | | CBI DATE |
i | ! . | .
J | | CL ENTRANCE | < e it
‘ I : / CALTECH DATE )
/ | . ! g W
i | | 2
i i 0 | 2 3 4 5
| : DETAIL |
: | ( SCALE X4 )
| | 1]
E i ; SUPPLER'S / PURCHASER'S WO
g i SCALE @
E i s L1GO BEAM TUBE
i | : |5 HANFORD » WA % LIVINGSTON, LA
e |F PUMP PORT HARDWARE TYPE “H”
T NOTES & a PLAN "A”
|. USE WITH DRAWING 102 SHT. 2 & 3 = costTmRS WO | g
PLAN "A" 2. 3 SPARE ASSEMBLIES (102-A) ARE INCLUDED el L N e |
) ENTIRE DRAWING REVISED IN UUANT]T]ES. & ‘g_% ENGINEERING ASSIGNED SHT | |
! }mncmscmczmmmevms ISSUE BB Bl Lico -DOk1303-0L-B




57102102 .DON

CL BEAM TUBE

BEAM TUBE
ENCLOSURE

ROOF —_—\

v
i

i -—- CL PUMP PORT
FL.3"-6'p =3

ﬁFLUOR EL. 0'-0

ELEVATION

T
|
!
|
! M=
O e | 4 =Y
| L e B
i
!
!
L
3% 7%6 4%5
SECTION “ A-A “ (SHT. 1)
( SCALE X4 )
e
!
!
|
!
_-_!.___ N |
!
!
|
!
e 5 APPROVED
L V. L. 73076
CBI DATE
SECTION “ B-B * (SHT. ) Q«h
( SCALE %4 ) J'OV T-12-%
CALTECH DATE
NOTES

[, USE WITH DRAWING 102 SHT. | & 3

@ SUPFLER'S / PURGHASER 'S MO

0 I 2 3 4
e g LIGO BEAM TUBE
z |3 HANFORD» WA & LIVINGSTON» LA
|'| ‘ Wt PUMP PORT HARDWARE TYPE “H”
= ELEVATION
77#7775- || CUSTOMER ‘S NO CONTRACT NO
SCALE o ‘jgw By RKZ crxo WAC oate 3/7/9% 953571
D ENTIRE DRAWING REVISED aa ML TELLAN e |232 Rslv
}l}mcmsmwnmmivmsrssw Eggsggsggﬁ L1CO -DOL1303-0(- B




57103102 .DGN

| CL PUMP PORT

BEAM TUBE |
ENCLOSURE '

ROOF j‘

-— CL BEAM TUBE

EL. 6'-2%

S LU B TS, SR A CL BEAM TUBE DETALL |
\VINSLA EL.3'-6Y5 =3 (SCALE X4)
_/\‘\._‘-/‘
SEE DETAIL |

/— FLOOR EL. 0°-
APPROVED
VIEW “C-C* (SHT. 1) . Fehts, 7-Z0-9C

¢8I DATE
EF /&M &~/2-96
CACTECH DATE

NOTES
I+ USE WITH DRAWING 102 SHT. | & 2

o2 3 cal

HANFORD >WA & LIVINGSTON LA

REMARKS

LIGO BEAM TUBE
| ‘ ‘ ‘ PUMP PORT HARDWARE TYPE “H"

REY . ENTIRE DRAWING

L VIEW “C-C”
CUSTOMER °S NO CONTRACT NO
SCALE P |ev BKZ cwo WAC owre 377/ g?w3257|
= 2 L. TELLALIA DWGC REV
D REVISED ENTIRE DRAWING e AL 3 ]
P DORATES CucE FROM PREVIOUS ISSLE gl 1Bl Sl L1go - DOLIBO3-0L-B




